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If it is according to the view of the 3139, they claim that it is
comparable to returning a lost article

OVERVIEW

The X713 asked that ¥v17° 227 should teach us the 17 of 121 70KW 7197 1n a case
where a m> said to the son of the (deceased) m>n, I owed your father a 1an,
but I paid him back half; that the m? is believed without taking the oath of a
n¥pna 77m.2 The 83 counters that this cannot be; for if *"3 follows the
opinion of the 1127 then the M7 would be considered a 77°2K wn,’ etc. It is
not clear why this presents a difficulty.” Seemingly this is what *"3 is
teaching that if he has a qoxw 71 he is believed.’

mooIn explains why it is considered as a 7ax 22wn®, and what is therefore the difficulty:
- VY PYN 13237 “DroNTs

As the X1 concludes that concerning the son of the m°», the M> can

indeed be brazen and deny any loans that he actually owed the father.®
- JANY 1IN DY W ONY 2IPNY I8N XY 15 ON)

And since that is true; that 1122 he is 1vm 7v», then the mw» could not
have stated that if there were witnesses to the (entire) loan, then the M is

! When one returns a lost article; a wallet for instance, where the loser claims that there was money in the
wallet, and the finder denies it, the law is that the finder is exempt from the usual oath of a nxpna 777 (the
finder is a n¥pn2 77 he admits to finding the wallet but denies that there was any money there). The
reason he is exempt from N¥pna 77 N1V is because of a 0°non N1pN; otherwise people would be hesitant
to return M7°2X out of concern that this may obligate them to take a Xn™MX7 7912w,

* A M who admits partially to a claim of a 7 is obligated to swear a NXpna 77 Ny12w that he does not
owe the rest of the debt which the m>n claims.

} See following 13°%% *271 17"'7 N9ON, where it seems that this term 77°2K 2°wn (in the case of 019 1°"nNHaKM)
refers to a 2n; that he could have been a 2571 7910 and claimed that he paid everything. See following
footnote # 5.

* According to (X2°9% 71"7) *"w1 who maintains that the ruling of >"9 is in a case of W2 7197 X, the question
is directed to the X (that he would be believed even in a case of Ww2in 7777), however according to MaoIN
that >"7 is also discussing a case of W21 1177, the s'R3 question is not readily understood.

> The terms 70X 71571 and 772X 2w are identical in this instance of 57 Y38, See previous footnote # 3.
% Every n¥pna 77 (seemingly) has a w2 of 9371 7912 and nevertheless is required to swear (as 727 will
shortly explain in the &773). Why is this n¥pna 377 of 015 *n%o8M any different?!

Tam.

¥ This is why by 079 "n9ax7 the m> is considered a 7728 2°w» and is M2 from a 712w since he has the
of being a %37 191, The rule of "> 11 Pyn 078 PR does not apply here. However this itself is no
contradiction to *"7; on the contrary this conforms to the ruling of >"1. The difficulty stems from the
purported '®9°0', as N19OIN concludes.
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not believed to claim that he paid half —
- DY DY 11227 YN SNYID N YA INT 1IN AN DNYYY

For in fact the Mm% will always be believed to claim I paid your father half
since he has a 1 that if the m“ wanted he could have said I paid your

father everything, for a Mm% is indeed °v» against the son of the m»; therefore
it is a proper 1. >3 could not have taught his 7 of q0Xw 797 in the case of 075 1NHIRM
for the Mm% would be believed without a 7312w even if there were 0*7v that he owed him
the entire sum.

SUMMARY
If >"2 would agree to the o2, there would be a difficulty with the X9°0
where he is 7281 1K (not with the 72X1 of the Xw9).

THINKING IT OVER

mooIn explains that the question ™77 77°2X 2°wn', is on the X9°0 of 17V ¥ ON)
7RI IR, Seemingly the X5°0 is not understood in any event. What effect can
TXI?77 27y have on a 9"y M9n; as the Xy previously stated, since NX M7n7
°7V2 1w19° ¥R 2°7v2 170an?!
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